[1D:9:9:9:9:9:0:9.9:9:9:9:0:9.9.9.9:0:0:9.9.9.9:9:0:0:9.0.9.9:9:0:0.9.9.9:0:0:9.:0.9.0.9:0:0:0.0.9.0:9:0:0.0.9.9:0:0:0:0.9.0.0:0:0:0.0.9.0:9:0:0:0.0.9:0:¢
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TrigonometryExercise6 for No.9124

d=(2cos(0)—1=0) .2=(4[cos(0)]" 1= 0)}
3=(cos(30)=0) 4=(cos(20)=1)

d=(2 [cos(@)]2+cos(9)— 1=0) .2=(2 [cos(e)]2+ sin(B)-1=0)
No2 =

No]:[

3=(2 [cos(@)]2 —cos(0)=0) 4 =(sin(0)+ cos(0) :«/5)
S =(2tan(0) cos(0)=tan(0)) 6=(4 [cos(e)]3 —cos(0)=0)

N03:[.1 —(2sin(0)+1=0) .2=(4[sin(0)*~3= 0)}
3=(sin(30)=0) 4=(sin(20)=1)
1=(2[cos(0)] =3 cos(8)+1=0) .2=(2[sin(6)]°—3cos(0)—3=0)
Nod=| .3=(2[cos(0)] +cos(0)=0) .4=(sin(9)—cos(9)=«/5)
S =(tan(0) cos(0)=cos(0)) 6=(4 [cos(e)]3 —3cos(0)=0)

No _[ A=(2sin(0)-1=0) 2=(4[cos(8)]°=3) }
- 3= (tan(0) sin(0)=tan(0)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.9197

No]:{l =(2sin(0)-1=0) .2=(4 [Sin(e)]z_ 1 :0)}

3=(sin(36)=0) 4=(cos(20)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[sin(0)] +cos(6)—1=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) cos(0)=tan(H)) .6=(4[sin(9)]3—3sin(9)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[cos(9)]2—1=0)}
3=(sin(20)=0) 4=(cos(30)=1)
.]:(2[cos(8)]2—3cos(8)+1=0) .2:(2[005(6)]2—sin(6)—1:0)
No4=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)+cos(6):«/5)
J=(2tan(0) cos(0)=tan(0)) 6=(4[sin(0)] —sin(0)=0)
N05:[ I=(2cos(8)—1=0) .2=(4[sin(9)]2=3)}
3=(2tan(0)sin(0)=tan(0)) .4:([tan(6)]2—1:O)
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TrigonometryExercise6 for No.9252

NO]:[.I:(2sin(6)+1:0) .2=(4[cos(9)]2—1=0)}
3=(cos(40)=0) A4=(cos(30)=1)
I =(2[sin(0)] —sin(0)—1=0) .2=(2[sin(8)]" -3 cos(8)—3=0)
No2=| .3=(2[sin(0)]*—sin(0)=0) .4:(sin(6)—cos(6):«/5)
.5 =(tan(0) sin(0) =sin(0)) .6=(4[sin(8)] —sin(06)=0)
N03:{1:(2sin(e)—1:0) .2:(4[sin(6)]2—3:0)}
3=(sin(40)=0) A4=(cos(20)=1)
I=(2[sin(0)=3sin(0)+1=0) .2=(2[cos(0)]*—sin(6)—1=0)
Nod=| .3=(2[sin(0)]*+sin(6)=0) .4=(sin(9)+cos(9)=«/5)
S =(tan(0) cos(0) =tan(0)) .6:(4[cos(e)]3—3cos(6):0)

No _{ 1=(2cos(0)—1=0) .2:(4[sin(6)]2:1)}
- 3= (tan(0) sin(0)=tan(H)) .4=([tan(9)]2—3=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.9312

J=(2sin(0)+1=0) .2=(4[cos(0)]*-3= 0)}
3=(cos(30)=0) 4=(sin(30)=1)

I=(2[sin(0)] =sin(0)—1=0) .2=(2[sin(0)]" —cos(8)—1=0)
No2 =

No]:{

3=(2 [cos(e)]2 —cos(0)=0) .4 =(cos(0)—sin(0) :«/E)

S =(tan(0)sin(0)=tan(H)) .6=(4[cos(9)]3—cos(9)=0)
N03:[.1:(2sin(6)—1:0) .2:(4[cos(9)]2—1=0)}
3=(cos(20)=0) 4=(cos(40)=1)
d=(2[cos(0) =3 cos(0)+1=0) .2=(2[sin(0)]* =3 cos(0)—3=0)
No4=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)+cos(6):«/5)

S =(tan(6) cos(0)=tan(0)) 6=(4[sin(0)] —3sin(0)=0)

N05:[ I=(2cos(8)—1=0) .2=(4[sin(6)]2=3)}
3 =(2tan(0) cos(0)=tan(0)) .4:(3[tan(6)]2—1=0)
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TrigonometryExercise6 for No.9397

NOI:[.I=(2COS(6)—1:O) .2:(4[cos(9)]2—1=0)}
3=(cos(30)=0) 4=(sin(30)=1)
I =(2[sin(0)] —sin(0)—1=0) .2=(2[cos(0)]*—3sin(6)—3=0)
No2=| .3=(2[sin(0)]*—sin(0)=0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[cos(9)]3—cos(9)=0)
N03:[.I:(2sin(6)+1:0) .2:(4[sin(6)]2—1:0)}
3=(sin(20)=0) 4=(cos(40)=1)
I=(2[sin(0)=3sin(0)+1=0) .2=(2[cos(0)]*—sin(6)—1=0)
Nod=| .3=(2[sin(0)]*+sin(6)=0) .4=(sin(9)+cos(9)=«/5)
S =(2tan(0)sin(0)=tan(0)) .6:(4[cos(e)]3—3cos(6):0)
N05:[ 1=(25sin(8)-1=0) .2:(4[sin(6)]2:3)}
3=(2tan(0) cos(0)=tan(H)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXKXKXKXKXKXMS/1-6400306-00006XX
TrigonometryExercise6 for No.9449

No]:{l =(2sin(0)-1=0) .2=(4 [Sin(e)]2_3 :0)}

3=(sin(360)=0) 4=(cos(20)=1)
d=(2[cos(0)]*=3cos(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
No2 = .3:(2[cos(6)]2+cos(6):0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) sin(0) =tan(0)) .6=(4[sin(9)]3—sin(9)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[cos(9)]2—1=0)}
3=(cos(30)=0) 4=(cos(40)=1)
.]:(2[cos(8)]2+3cos(8)+1=0) .2:(2[005(6)]2—sin(6)—1:0)
Nod=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) 6=(4[cos(0)]’ =3 cos(0)=0)
NO5{ I=(2cos(8)—1=0) .2:(4[sin(9)]2:1)}
J=(tan(0)cos(B)=tan(0)) .4=(3 [tan(@)]z— 1=0)
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TrigonometryExercise6 for No.9562

NOI:[.I:(2sin(6)+1=O) .2:(4[cos(9)]2—3=0)}
3=(cos(20)=0) A4=(sin(20)=1)
.1=(2[cos(9)]2—cos(9)—1=0) .2=(2[cos(9)]2—sin(9)—1=0)
No2=| .3=(2[sin(0)] -sin(0)=0) .4:(sin(6)—cos(6):«/5)
S =(2tan(0)sin(0)=tan(0)) 6= (4[sin(8)] -3 sin(0)=0)
N03:[.I:(2cos(6)—1:0) .2:(4[sin(6)]2—1:0)}
3=(sin(40)=0) 4=(cos(30)=1)
1=(2[cos(0))+3cos(8)+1=0) .2=(2[sin(0)]*+3cos(0)—3=0)
Nod = 3=(2[sin(0)]* +sin(0)=0) .4=(cos(9)—sin(9)=«/5)
S=(2tan(0) cos(0)=tan(0)) .6:(4[cos(e)]3—3cos(6):0)
N05{ 1=(25sin(8)-1=0) .2:(4[sin(6)]2:3)}
3 =(tan(0) cos(0)=tan(0)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.9721

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’ 1= 0)}

3=(cos(30)=0) 4=(cos(40)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
No2=| .3=(2[sin(0)]* —sin(8)=0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) sin(0)=tan(9)) 6=(4 [cos(e)]3 —3cos(0)=0)
No3 :{1 =(2cos(0)—1=0) .2=(4[sin(0)] = 1= 0)}
3=(cos(20)=0) 4=(sin(20)=1)

3=(2 [cos(@)]2+cos(8):0) 4= (sin(@)—cos(@):«/z)
S =(tan(0) sin(0) =sin(0)) 6=(4[sin(0)] - 3sin(0)=0)
N05:{ A=(2sin(0)—-1=0) .2=(4[cos(9)]2=3)}

3 =(2tan(0) cos(0)=tan(0)) .4:([tan(6)]2— 1=0)
X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKXKXKXKXKXKXKXXKXKXKXKXKXKXKX

I=(2[sin(0)] =sin(0)—1=0) .2=(2[sin(0)]* —cos(6)—1=0)
No4 =
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TrigonometryExercise6 for No.9789

No]_[.lz(2sin(6)+1:0) .2:(4[sin(9)]2—1:0)}
L .3=(cos(40)=0) 4=(sin(20)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
No2=| .3=(2[sin(0)] -sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(6) =tan(0)) .6:(4[sin(9)]3—3sin(e):O)
N03_[1=(2cos(e)—1=0) .2:(4[cos(6)]2—3=0)}
L .3=(sin(30)=0) 4=(sin(40)=1)

3=(2 [cos(G)]2+cos(9)=0) 4= (cos(0)—sin(H) =«/5)
S =(2tan(0)sin(0)=tan(0)) 6=(4 [cos(6)]3 —3cos(0)=0)
N05:[ 1 =(2sin(0)-1=0) .2=(4[cos(6)]2:1)}

J3=(tan(0)sin(0)=sin(0)) .4= ([tan(@)]2 -3=0)
O0:010:010:010:010.0/0:0.0:0.0:0.0.0.0.:0.0.0:010.00.0.0.0.0:0.0:0:0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0:0.0:0:0:0.0:0.0:0.0.:0.0.0.0.0.0:0:0'0:0:0¢

I=(2[cos(0)]"—cos(0)—1=0) .2=(2[cos(0)]*—sin(8)—1=0)
No4 =

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXKKXKXKXKMS/1-6400306-00010XX
TrigonometryExercise6 for No.9795

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’-3= 0)}

3=(sin(20)=0) 4=(cos(30)=1)
d=(2[cos(0)]*=3cos(0)+1=0) .2=(2[cos(0)]* —sin(6)—1=0)
No2 = .3:(2[cos(6)]2+cos(6):0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) sin(0) =tan(0)) .6=(4[sin(9)]3—sin(9)=0)
N03:[.1:(2sin(6)—1:0) .2:(4[sin(6)]2—3=0)}
3=(cos(20)=0) 4=(sin(40)=1)
I=(2[sin(0)] —sin(0)—1=0) .2=(2[cos(0)]°=3sin(6)-3=0)
No4=| .3=(2[sin(0)]*—sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6=(4[sin(9)]3—3sin(@)zO)
N05:{ I=(2cos(8)—1=0) .2:(4[sin(9)]2:1)}
3= (tan(6) cos(0) =tan(0)) .4:([tan(6)]2—1:0)
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TrigonometryExercise6 for No.9839

NOIZ[.I=(2COS(9)—1=0) .2=(4[sin(9)]2—1:0)}
3=(cos(20)=0) A4=(sin(20)=1)
d=(2[cos(0)] +cos(0)—1=0) .2=(2[cos(0)]°—3sin(0)-3=0)
No2=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[cos(0)]’ =3 cos(0)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[cos(6)]2—1:0)}
3=(sin(30)=0) A4=(cos(40)=1)
I =(2[sin(0)] —sin(0)—1=0) .2=(2[sin(8)]* +3 cos(8)—3=0)
No4=| .3=(2[sin(0)]* +sin(0)=0) .4=(sin(9)—cos(9)=«/5)
S =(tan(0) cos(0)=tan(0)) .6=(4[sin(0)] —sin(0)=0)

No _[ 1=(2sin(6)-1=0) 2=(4[sin(0)]=3) }
- .3 =(tan(0) sin(0) =sin(0)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.9843

No]:[-1=(2008(9>—1=0> .2=(4[sin<e)]2—1=o>}

3=(cos(40)=0) A4=(sin(30)=1)
I=(2[sin(0)=3sin(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
No2 = .3:(2[sin(6)]2—sin(6):0) .4:(sin(6)+cos(6):«/5)
S =(tan(6) cos(0) =tan(0)) .6=(4[sin(9)]3—3sin(9)=0)
N03:[.1:(2sin(6)—1:0) .2:(4[cos(9)]2—3=0)}
3=(cos(30)=0) 4=(cos(20)=1)
d=(2[cos(0)] +cos(8)—1=0) .2=(2[cos(0)]*=3sin(6)—3=0)
Nod=| .3=(2[sin(0)]" +sin(0)=0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6=(4[cos(e)]3—3cos(9)=0)
NO5{ 1=(2sin(0)+1=0) .2:(4[cos(9)]2:1)}
3 =(2tan(0) cos(0)=tan(0)) .4:([tan(6)]2—3:O)
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TrigonometryExercise6 for No.9854

NO]:[.I:(2sin(6)—1:0) .2=(4[sin(6)]2—3=0)}
3=(cos(40)=0) 4=(cos(30)=1)
d=(2[cos(0)] +cos(0)—1=0) .2=(2[cos(0)]°+3sin(0)-3=0)
No2=| .3=(2[cos(0)]*+cos(0)=0) .4:(cos(6)—sin(6):«/5)
5= (2tan(0) cos(0)=tan(0)) .6=(4[cos(e)]3—3cos(9)=0)
N03:[1=(2cos(e)—1=0) .2:(4[cos(6)]2—1=0)}
3=(cos(20)=0) 4=(sin(40)=1)
d=(2[cos(0)]*—cos(0)—1=0) .2=(2[sin(0)]* -3 cos(8)—-3=0)
Nod=| .3=(2[cos(8)]*—cos(0)=0) .4=(sin(9)+cos(9)=«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[005(6)]3—cos(6):0)
N05:[ 1=(25sin(0)+1=0) .2:(4[sin(6)]2:1)}
3=(2tan(0) sin(0) =tan(0)) .4=([tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.9862

No]:{l =(2sin(0)-1=0) .2=(4 [Sin(e)]2_3 :0)}

3=(sin(20)=0) 4=(cos(30)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]* —sin(6)—1=0)
No2 = .3:(2[sin(6)]2+sin(6):0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(0) =cos(0)) 6=(4 [cos(e)]3 —cos(0)=0)
No3 {.1 —(2sin(0)+1=0) .2=(4[cos(8)] 3= 0)}
3=(cos(20)=0) 4=(cos(40)=1)
d=(2 [cos(@)]z— 3cos(B)+1=0) .2=(2 [sin(@)]2+cos(6)— 1=0)
Nod = 3=(2[sin(0)] - sin(0)=0) .4=(cos(6)—sin(6):«/5)
.5 =(tan(0) sin(6)=tan(0)) 6=(4[cos(8)]’ =3 cos(8)=0)

N05_[ I=(2cos(8)—1=0) .2:(4[005(9)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4:([tan(6)]2—1:0)
X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXKXXXXKXKXKXXXXKXKXKXKXXXKKXKXKXXKKKXKXKXKXK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400306-00015XX
TrigonometryExercise6 for No.10278

NO]:[.I:(2sin(6)+1:O) .2=(4[sin(6)]2—3=0)}
3=(sin(30)=0) 4=(cos(40)=1)
d=(2[cos(0)] +cos(0)—1=0) .2=(2[sin(0)]* -3 cos(8)-3=0)
No2=| .3=(2[sin(0)] -sin(0)=0) .4:(sin(6)—cos(6):«/5)
.5 =(tan(0) sin(0) =sin(0)) .6=(4[sin(0)] —sin(0)=0)
N03:[.I:(2sin(6)—1:0) .2:(4[sin(6)]2—1:0)}
3=(sin(40)=0) A4=(cos(30)=1)
I =(2[sin(0)] —sin(0)—1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
Nod=| .3=(2[cos(0)]*+cos(6)=0) .4=(cos(9)—sin(9)=«/5)
S=(2tan(0) cos(0)=tan(0)) .6:(4[cos(6)]3—cos(6):0)

No _[ A =(2cos(0)-1=0) 2=(4[cos(0)]=3) }
- 3= (tan(0) sin(0)=tan(0)) .4=(3[tan(9)]2—1=0)
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TrigonometryExercise6 for No.10361

No]:{l =(2cos(0)-1=0) .2=(4 [cos(e)]z_ 1 :0)}

3=(sin(40)=0) 4=(cos(30)=1)
d=(2[cos(0)]*—cos(0)—1=0) .2=(2[sin(0)]*+3 cos(6)-3=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) sin(0) =sin(0)) .6=(4[sin(9)]3—3sin(9)=0)
N03:[.1:(2sin(6)—1:0) .2:(4[sin(6)]2—3=0)}
3=(sin(20)=0) 4=(cos(20)=1)
d=(2[sin(0)] +sin(0)—1=0) .2=(2[sin(0)]* =3 cos(0)—3=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4:(cos(6)—sin(6):«/5)
S =(2tan(0)sin(0)=tan(0)) .6:(4[cos(9)]3—cos(9)=0)
N05{ J=(2sin(0)+1=0) .2:(4[sin(9)]2:1)}
.3 =(tan(0) sin(0) =tan(0)) .4:([tan(6)]2—1:0)
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TrigonometryExercise6 for No.10532

NOI:[.I=(2COS(6)—1:O) .2:(4[cos(9)]2—1=0)}
3=(cos(20)=0) 4=(sin(20)=1)
1 =(2[sin(0)] +sin(0)—1=0) .2=(2[cos(0)]*—3sin(6)—3=0)
No2=| .3=(2[cos(0)]*+cos(0)=0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[cos(0)]’ =3 cos(0)=0)
N03:{1:(2sin(e)+1:0) .2:(4[sin(6)]2—3:0)}
3=(sin(30)=0) 4=(sin(40)=1)
I=(2[sin(0)=3sin(0)+1=0) .2=(2[sin(0)]* +cos(8)—1=0)
Nod=| .3=(2[sin(0)]*—sin(6)=0) .4=(sin(9)—cos(9)=«/5)
5=(2tan(0)sin(0) =tan(0)) 6=(4[sin(0)] - 3sin(0)=0)
N05:{ I=(2sin(0)-1=0) .2:(4[c0s(6)]2:3)}
.3=(tan(0) cos(0)=tan(H)) .4=([tan(9)]2—3=0)
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TrigonometryExercise6 for No.10688

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’-3= 0)}

3=(sin(36)=0) 4=(cos(30)=1)
d=(2[cos(0)*+3cos(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
No2 = .3:(2[cos(6)]2+cos(6):0) .4:(sin(6)+cos(6):«/5)
S =(2tan(0)sin(0)=tan(0)) 6=(4 [cos(@)]3 —cos(0)=0)
N03=[.1:(2cos(6)—1=0) .2=(4[cos(9)]2—1=0)}
3=(sin(20)=0) 4=(sin(40)=1)
d=(2 [cos(@)]z— 3cos(B)+1=0) .2=(2 [sin(@)]z—cos(G)— 1=0)
Nod=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(6)—cos(6):«/5)
5= (2tan(0) cos(0)=tan(0)) 6=(4 [cos(e)]3 —3cos(0)=0)
N05:{ 1=(2sin(0)—1=0) .2:(4[sin(9)]2:1)}
3= (tan(6) cos(0) =tan(0)) .4:([tan(6)]2—1:0)
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TrigonometryExercise6 for No.10868

NO]:[.I:(2sin(6)—1:0) .2=(4[sin(6)]2—3=0)}
3=(cos(30)=0) 4=(cos(20)=1)
.]=(2[sin(9)]2—3sin(9)+1=0) .2=(2[cos(9)]2+sin(9)—1=O)
No2=| .3=(2[sin(0)] +sin(0)=0) .4:(sin(6)—cos(6):«/5)
5= (tan(0) sin(0) =tan(0)) 6=(4[sin(8)] —sin(6)=0)
N03:[1=(2cos(e)—1=0) .2:(4[cos(6)]2—3=0)}
3=(cos(40)=0) 4=(sin(30)=1)
I =(2[sin(0)] +sin(0)—1=0) .2=(2[cos(0)]*—3sin(6)—3=0)
Nod=| .3=(2[sin(0)]*-sin(0)=0) .4=(sin(9)+cos(9)=«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[sin(6)]3—3sin(@)zo)
N05:[ 1=(25sin(0)+1=0) .2:(4[sin(6)]2:1)}
3=(2tan(0) cos(0)=tan(H)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKKXXKXKXKXKXKMS/1-6400306-00020XX
TrigonometryExercise6 for No.10900

I=(2sin(0)+1=0) .2=(4[cos(0)]*—1= 0)}
3=(cos(20)=0) 4=(sin(30)=1)

I=(2[sin(0)] +sin(0)—1=0) .2=(2[sin(0)] +cos(8)—1=0)
No2 =

No]:{

3=(2 [cos(e)]2 —cos(0)=0) .4 =(cos(0)—sin(0) :«/E)

S =(tan(0) cos(0)=cos(0)) 6=(4 [sin(e)]3 —sin(0)=0)
N03:[.1=(2 sin(6)—1=0) .2:(4[sin(9)]2—1=0)}
3=(sin(20)=0) 4=(cos(40)=1)
d=(2[cos(0) =3 cos(0)+1=0) .2=(2[sin(0)]* =3 cos(0)—3=0)
Nod = 3=(2[sin(0)] +sin(0)=0) .4:(sin(6)—cos(6):«/5)
J=(2tan(0) sin(0) =tan(0)) 6=(4[cos(0)] —cos(0)=0)

NO5{ I=(2cos(8)—1=0) .2=(4[sin(9)]2=3)}
.3 =(2tan(0) cos(0)=tan(0)) .4:([tan(6)]2—3 =0)
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TrigonometryExercise6 for No.11693

NO]:[.I:(2sin(6)—1:0) .2=(4[sin(6)]2—3=0)}
3=(sin(40)=0) 4=(sin(30)=1)
.1=(2[cos(9)]2+cos(9)—1=0) .2=(2[cos(9)]2+sin(9)—1=0)
No2=| .3=(2[sin(0)] -sin(0)=0) .4:(sin(6)—cos(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6=(4[sin(9)]3—3sin(9)=0)
N03:{1:(2sin(6)+1:0) .2=(4[cos(6)]2—1:0)}
3=(cos(30)=0) 4=(cos(20)=1)
I=(2[cos(0)]+3cos(8)+1=0) .2=(2[sin(0)]*+3cos(6)—3=0)
Nod=| .3=(2[cos(0)] +cos(0)=0) .4=(cos(9)—sin(9)=«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[sin(0)] —sin(0)=0)
N05:[ 1=(2cos(8)—1=0) .2:(4[sin(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4=([tan(9)]2—1=0)
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TrigonometryExercise6 for No.12097

Nol z[z —(2sin(0)+1=0) .2=(4[sin(6) 1= 0)}

3=(sin(30)=0) 4=(cos(30)=1)
I=(2[cos(0)]*+cos(0)—1=0) .2=(2[cos(0)]*+3sin(0)-3=0)
No2=| .3=(2[sin(0)] +sin(6)=0) .4:(cos(6)—sin(6):«/5)
S =(tan(6) cos(0)=tan(0)) .6=(4[sin(9)]3—3sin(9)=0)
N03:[.1:(2sin(6)—1:0) .2:(4[cos(9)]2—1=0)}
3=(cos(40)=0) 4=(sin(20)=1)
I=(2[sin(0)] —sin(0)—1=0) .2=(2[cos(0)]°=3sin(6)-3=0)
No4=| .3=(2[cos(0)]*=cos(0)=0) .4:(sin(6)—cos(6):«/5)
5=(2tan(0)sin(0) =tan(0)) 6=(4[cos(8)]’—3cos(8)=0)
N05:[ I=(2cos(8)—1=0) .2:(4[005(9)]2:3)}
.3 =(tan(0) sin(0) =sin(0)) .4:(3[tan(8)]2—1:0)
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TrigonometryExercise6 for No.12172

NO]:[.I:(2sin(6)—1:O) .2:(4[sin(9)]2—1:0)}
3=(cos(30)=0) A4=(sin(20)=1)
.]=(2[sin(9)]2—3sin(9)+1=0) .2=(2[sin(9)]2—cos(9)—1=O)
No2=| .3=(2[sin(0)] —sin(0)=0) .4:(cos(6)—sin(6):«/5)
S =(2tan(0)sin(0)=tan(0)) 6= (4[sin(0)] —sin(0)=0)
NOSZ[.I:(2sin(6)+1:O) .2:(4[cos(6)]2—1:0)}
3=(sin(40)=0) 4=(cos(20)=1)
I =(2[sin(0)] —sin(0)—1=0) .2=(2[cos(0)]*—3sin(6)—3=0)
No4=| .3=(2[sin(0)]* +sin(0)=0) .4=(sin(9)—cos(9)=«/5)
5= (tan(0) sin(0) =sin(0)) 6=(4[sin(0)] -3sin(0)=0)
N05{ 1=(2cos(8)—1=0) .2:(4[sin(6)]2:3)}
3= (tan(0) cos(0)=cos(0)) .4=([tan(9)]2—1=0)
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TrigonometryExercise6 for No.12173

Nol z[z —(2sin(0)+1=0) .2=(4[sin(6)=3= 0)}

3=(sin(40)=0) 4=(cos(20)=1)
1=(2[cos(0) =3 cos(0)+1=0) .2=(2[sin(0)]*=3cos(0)—3=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(0)=cos(9)) 6=(4 [sin(e)]3 -3sin(0)=0)
N03=[.1:(2cos(6)—1=0) .2=(4[cos(9)]2—1=0)}
3=(sin(30)=0) 4=(cos(30)=1)

3=(2 [sin(@)]2+sin(8) =0) 4 =(cos(0)— sin(@):«/z)
5=(tan(0)sin(0) =sin(0))  .6=(4[cos(0)]’ -3 cos(0)=0)
N05{ J=(2sin(0)—1=0) 2=(4[sin(®=1) }

J=(tan(0)cos(B)=tan(0)) .4=(3 [tan(@)]2 -1=0)
X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXKXKXKXKXXKXKXKXKXKXKXKX

A=(2 [sin((?))]z— sin(0)—-1=0) .2=(2 [cos((?))]z— sin(0)—-1=0)
No4 =
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TrigonometryExercise6 for No.12180

NO]:{I:@ sin(0)+1=0) .2=(4[cos(9)]2—1=0)}
3=(sin(30)=0) A4=(cos(30)=1)
d=(2 [cos(e)]z— 3cos(B)+1=0) .2=(2 [sin(e)]2+cos(9)— 1=0)
No2=| .3=(2[cos(0)]*—cos(0)=0) .4=(cos(6)—sin(6):«/5)
S =(2tan(0)sin(0)=tan(0)) 6= (4[sin(0)] —sin(8)=0)
No3 :{1 —(2c0s(0)—1=0) .2=(4[sin(6)]*~3= 0)}
3=(cos(20)=0) A4=(sin(40)=1)
d=(2[cos(0)*+3cos(0)+1=0) .2=(2[cos(0)]*—sin(8)—1=0)
Nod=| .3=(2[cos(0)] +cos(0)=0) .4=(sin(9)—cos(9)=«/5)
S =(tan(0) cos(0)=cos(0)) 6=(4 [cos(e)]3 —cos(0)=0)

No _{ A =(2sin(0)-1=0) .2:(4[c0s(6)]2:3)}
- 3= (tan(0)sin(0) =tan(0)) .4=([tan(0)]*=3=0)
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TrigonometryExercise6 for No.12256

J=(2sin(0)+1=0) .2=(4[sin(0)]’-3= 0)}
3=(cos(30)=0) 4=(cos(20)=1)

I=(2[cos(0) +cos(0)—=1=0) .2=(2[sin(0)]* +cos(8)—1=0)
No2 =

No]:[

3=(2[cos(8)]* —cos(8)=0) 4 =(sin(0)+cos(0) :«/E)

S =(tan(0) sin(0) =sin(0)) .6=(4[sin(9)]3—sin(9)=0)
N03=[.]:(2cos(6)—1:0) .2:(4[sin(9)]2—1:0)}
3=(sin(20)=0) 4=(cos(40)=1)
d=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]°+3sin(0)-3=0)
No4=| .3=(2[sin(0)] +sin(0)=0) .4:(sin(6)—cos(6):«/5)
5=(2tan(0)sin(0) =tan(0)) 6=(4[cos(8)]’ —cos(8)=0)
N05:{ I=(2sin(8)—1=0) .2=(4[cos(9)]2:1)}
3= (tan(6) cos(0) =tan(0)) .4:([tan(6)]2—1:0)
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TrigonometryExercise6 for No.12278

NO]:[.I:(2sin(6)+1:O) .2:(4[sin(9)]2—1:0)}
3=(sin(20)=0) 4=(sin(30)=1)
.]=(2[cos(9)]2—3cos(9)+1=0) .2=(2[sin(9)]2—cos(9)—1=0)
No2=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)+cos(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6:(4[cos(6)]3—cos(9)=0)
N03:[.I:(2sin(6)—1:0) .2:(4[cos(6)]2—l:0)}
3=(cos(20)=0) 4=(sin(40)=1)
d=(2[cos(0)]*—cos(0)—1=0) .2=(2[cos(0)]°—3sin(0)-3=0)
Nod=| .3=(2[sin(0)]* —sin(6)=0) .4=(cos(9)—sin(9)=«/5)
5= (tan(0) sin(0) =sin(0)) .6=(4[sin(0)]’ —sin(0)=0)
N05{ 1=(2cos(8)—1=0) .2=(4[cos(6)]2:3)}
3= (tan(0) cos(0)=cos(0)) .4=([tan(9)]2—3=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.12482

NO]={]=(2sin(9)+1=O) .2=(4[sin(9)]2—1=0)}
3=(cos(260)=0) A4=(sin(20)=1)
d=(2[cos(0)]*—cos(0)—1=0) .2=(2[sin(0)]*+3 cos(6)-3=0)
No2 = .3:(2[sin(6)]2—sin(6):0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) sin(0) =sin(0)) .6=(4[sin(9)]3—3sin(9)=0)
N03:[.1:(2sin(6)—1:0) .2:(4[sin(6)]2—3=0)}
3=(cos(40)=0) 4=(cos(30)=1)
.1:(2[sin(8)]2+3sin(8)+1=O) .2=(2[cos(6)]2—sin(8)—1:O)
Nod=| .3=(2[sin(0)] +sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[cos(6)]3—cos(9)=0)
N05:[ 1=(2cos(8)—1=0) .2=(4[cos(9)]2:1)}
J=(tan(0) sin(0)=tan(0)) .4=(3 [tan(@)]z— 1=0)
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TrigonometryExercise6 for No.12586

NO]:[.I:(2sin(6)+1:O) .2:(4[sin(9)]2—1:0)}
3=(sin(30)=0) 4=(cos(40)=1)
.]=(2[sin(9)]2—3sin(9)+1=0) .2=(2[cos(9)]2+sin(9)—1=O)
No2=| .3=(2[cos(0)]* —cos(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[cos(6)]3—cos(9)=0)
N03:[1=(2cos(e)—1=0) .2:(4[cos(6)]2—3=0)}
3=(sin(40)=0) 4=(cos(30)=1)
I =(2[sin(0) +sin(0)—1=0) .2=(2[sin(8)]* -3 cos(8)—3=0)
Nod=| .3=(2[sin(0)]* +sin(0)=0) .4=(sin(9)—cos(9)=«/5)
S=(2tan(0) cos(0)=tan(0)) .6:(4[cos(@)]3—3cos(6):0)
N05:{ 1=(25sin(8)-1=0) .2:(4[sin(6)]2:3)}
.3=(tan(0) cos(0)=tan(H)) .4=([tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.12677

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’-3= 0)}

3=(cos(30)=0) 4=(cos(40)=1)
d=(2[cos(0)]*+cos(0)—1=0) .2=(2[cos(0)]°=3sin(0)—-3=0)
No2 = .3:(2[cos(6)]2+cos(6):0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(B) =tan(6)) .6=(4[cos(9)]3—3cos(6)=0)
N03:[.1:(2sin(6)—1:0) .2:(4[sin(6)]2—3=0)}
3=(sin(20)=0) 4=(sin(30)=1)
.]:(2[cos(8)]2—3cos(8)+1=0) .2:(2[005(6)]2+sin(6)—1:0)
Nod = 3=(2[sin(0)] - sin(0)=0) .4=(cos(6)—sin(6):«/5)
S =(tan(0)sin(0)=tan(0)) 6=(4[cos(0)] —cos(0)=0)
N05:[ I=(2cos(8)—1=0) .2:(4[sin(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4:([tan(6)]2—1:0)
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TrigonometryExercise6 for No.13490

d=(2sin(0)-1=0) .2=(4[sin(0)]°-1= 0)}
3=(cos(30)=0) 4=(sin(20)=1)

d=(2 [sin(@)]z— sin(B)-1=0) .2=(2 [cos(@)]z— sin(B)-1=0)
No2 =

No]:[

3=(2 [cos(@)]2 —cos(0)=0) 4 =(sin(0)—cos(0) =«/5)

.5 =(tan(0) sin(0) =sin(0)) .6:(4[cos(9)]3—cos(9)=0)
N03:{1:(2sin(e)+1:0) .2:(4[sin(6)]2—3:0)}
3=(cos(20)=0) 4=(sin(40)=1)
I=(2[sin(8) +3sin(0)+1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4=(cos(9)—sin(9)=«/5)

S =(tan(0) cos(0)=tan(0)) 6=(4[sin(0)] - 3sin(0)=0)

N05:[ 1=(2cos(B)—1=0) .2:(4[003(9)]2:1)}
3 =(2tan(0) cos(0)=tan(H)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.13500

Nol =[‘] =(2sin(0)—1=0) .2=(4[cos(0)]’-3= 0)}

3=(sin(40)=0) 4=(sin(20)=1)
I =(2[sin(0)] +sin(0)=1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(sin(6)+cos(6):«/5)
J=(2tan(0)cos(B)=tan(H)) .6=(4[cos(9)]3—cos(9)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[sin(6)]2—3=0)}
3=(cos(40)=0) 4=(cos(20)=1)
d=(2[cos(0)] —cos(8)—1=0) .2=(2[sin(0)]* =3 cos(6)—3=0)
Nod=| .3=(2[sin(0)]" +sin(0)=0) .4:(cos(6)—sin(6):«/5)
.5=(tan(0) cos(0) = tan(H)) 6= (4[sin(8)] -3 sin(0)=0)
N05:[ I=(2cos(8)—1=0) .2:(4[cos(9)]2:1)}
3=(2tan(0)sin(0)=tan(0)) .4:([tan(6)]2—1:O)
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TrigonometryExercise6 for No.13637

N0]_[.I=(2COS(9)—1=O) .2=(4[sin(9)]2—1=0)}
L .3=(sin(20)=0) 4=(cos(30)=1)
d=(2 [sin(e)]2— 3sin(0)+1=0) .2=(2 [sin(@)]2—3 cos(0)—-3=0)
No2=| .3=(2[sin(0)] -sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) sin(0) =sin(0)) 6=(4 [sin(e)]3 —sin(0)=0)
NOS—{I:(z sin(0)—1=0) .2:(4[cos(6)]2—1:0)}
L .3=(cos(20)=0) 4=(sin(40)=1)

3=(2 [cos(G)]2+cos(9)=0) 4= (cos(0)—sin(H) =«/5)
S=(2tan(0)sin(0)=tan(0))  .6=(4[sin(0)] 3 sin(0)=0)
N05:[ J=(2sin(0)+1=0) 2=(4[sin(0)=3) }

J3=(2tan(0)cos(B)=tan(B)) .4=(3 [tan(@)]2— 1=0)
O0:010:010:010:010.0/0:0.0:0.0:0.0.0.0.:0.0.0:010.00.0.0.0.0:0.0:0:0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0:0.0:0:0:0.0:0.0:0.0.:0.0.0.0.0.0:0:0'0:0:0¢

I=(2[cos(0)]"—cos(0)—1=0) .2=(2[cos(0)]*—sin(8)—1=0)
No4 =
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TrigonometryExercise6 for No.645101

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’-3= 0)}

3=(cos(20)=0) 4=(cos(40)=1)
d=(2[cos(0)]*=3cos(0)+1=0) .2=(2[sin(0)] +cos(68)—1=0)
No2 = .3:(2[cos(6)]2+cos(6):0) .4:(cos(6)—sin(6):«/5)
S =(2tan(0)sin(0)=tan(0)) 6=(4 [cos(e)]3 —3cos(0)=0)
N03:[.1:(2cos(6)—1:0) .2:(4[cos(9)]2—1=0)}
3=(sin(20)=0) 4=(cos(30)=1)
d=(2 [cos(@)]2+ 3cos(B)+1=0) .2=(2 [sin(@)]z—cos(G)— 1=0)
Nod = 3=(2[sin(0)] - sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0) =tan(0)) 6=(4 [sin(e)]3 -3sin(0)=0)
NO5{ 1 =(2sin(0)—1=0) .2=(4[sin(9)]2=3)}
3= (tan(0) cos(0) =cos(0)) .4:([tan(6)]2—3:O)
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TrigonometryExercise6 for No.645102

NOI:{I:@sin(e)—l:O) .2:(4[005(9)]2—1=0)}
3=(cos(20)=0) 4=(cos(40)=1)
I =(2[sin(0)] +sin(0)—1=0) .2=(2[sin(8)]" -3 cos(8)—3=0)
No2=| .3=(2[cos(0)]*=cos(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[sin(9)]3—sin(9)=0)
N03:[.1=(2cos(e)—1=0) .2:(4[sin(6)]2—3:0)}
3=(sin(30)=0) 4=(sin(20)=1)
d=(2[cos(0)]* =3 cos(0)+1=0) .2=(2[sin(0)] +cos(8)—1=0)
Nod=| .3=(2[cos(0)] +cos(0)=0) .4=(cos(9)—sin(9)=«/5)
S =(2tan(0) cos(0)=tan(0)) .6:(4[sin(6)]3—3sin(e)zo)
N05:[ 1=(25sin(0) +1=0) .2:(4[sin(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4=([tan(9)]2—3=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXKXKXKXKXKKXKMS/1-6400306-00036XX
TrigonometryExercise6 for No.645103

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’-3= 0)}

3=(cos(40)=0) 4=(cos(30)=1)
d=(2[cos(0)]*+cos(0)—1=0) .2=(2[cos(0)]*+3sin(0)-3=0)
No2 = .3:(2[cos(6)]2+cos(6):0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) sin(0)=tan(9)) .6=(4[cos(9)]3—3cos(6)=0)
N03=[.1:(2sin(6)—1:0) .2:(4[sin(6)]2—1=0)}
3=(sin(20)=0) 4=(sin(40)=1)
.1:(2[sin(8)]2+3sin(8)+1=O) .2=(2[cos(6)]2+sin(8)—1:O)
Nod=| .3=(2[sin(0)] —sin(0)=0) .4:(sin(6)—cos(6):«/5)
S5 =(2tan(0)sin(6)=tan(0)) 6=(4[cos(8)]’ —cos(8)=0)
NO5{ I=(2cos(8)—1=0) .2:(4[cos(9)]2:1)}
3 =(2tan(0) cos(0)=tan(0)) .4:([tan(6)]2—1:O)
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TrigonometryExercise6 for No.645104

NOI:[.I=(2COS(6)—1:O) .2:(4[cos(9)]2—3=0)}
3=(cos(30)=0) 4=(cos(40)=1)
d=(2[cos(0)]°—cos(0)—1=0) .2=(2[sin(0)]*+3 cos(8)—-3=0)
No2=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(6)—cos(6):«/5)
5=(2tan(0)sin(0) =tan(0)) 6= (4[sin(8)] -3 sin(0)=0)
N03:{1:(2sin(e)—1:0) .2:(4[sin(6)]2—3:0)}
3=(sin(20)=0) 4=(sin(40)=1)
d=(2[cos(0)]*+3cos(0)+1=0) .2=(2[cos(0)]*—sin(8)—1=0)
Nod=| .3=(2[cos(0)] +cos(0)=0) .4=(cos(9)—sin(9)=«/5)
.5 =(tan(0) sin(0) =sin(0)) .6:(4[cos(e)]3—3cos(6):0)
N05:[ 1=(25sin(8)+1=0) .2:(4[003(9)]2:1)}
3= (tan(0) cos(0)=cos(0)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.645105

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’ 1= 0)}

3=(sin(46)=0) 4=(cos(40)=1)
I=(2[sin(0)]=3sin(0)+1=0) .2=(2[cos(0)]* —sin(6)—1=0)
No2=| .3=(2[sin(0)]*—sin(8)=0) .4:(sin(6)+cos(6):«/5)
J=(2tan(0) cos(0)=tan(H)) .6=(4[cos(9)]3—cos(9)=0)
N03=[.]:(2cos(6)—1:0) .2:(4[sin(9)]2—1:0)}
3=(cos(30)=0) 4=(cos(20)=1)
.1:(2[sin(8)]2+3sin(8)+1=O) .2=(2[sin(6)]2+cos(8)—1:O)
No4=| .3=(2[cos(0)]* +cos(6)=0) .4:(sin(6)—cos(6):«/5)
5= (tan(0) cos(0) = tan(0)) 6=(4[sin(0)] —3sin(0)=0)
N05:[ A=(2sin(0)—1=0) .2=(4[cos(9)]2=3)}
.3 =(tan(0) sin(0) =sin(0)) .4:(3[tan(8)]2—1:0)
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TrigonometryExercise6 for No.645106

d=(2cos(0)—1=0) .2=(4[cos(0)]" 1= 0)}
3=(cos(30)=0) 4=(sin(40)=1)

d=(2 [cos(@)]z—cos(e)— 1=0) .2=(2 [sin(@)]z—cos(e)— 1=0)
No2 =

No]:[

3=(2 [cos(@)]2+cos(8):0) .4 =(cos(0)—sin(0) :«/5)
S =(tan(0) cos(0)=tan(0)) 6= (4[sin(8)] -3 sin(0)=0)

N03:{1 = (2sin(0)+1=0) .2=(4[sin(0)-1= 0)}
3=(sin(30)=0) 4=(cos(20)=1)
I=(2[sin(8)]" =3sin(0)+1=0) .2=(2[cos(0)]*—3sin(6)—3=0)
Nod=| .3=(2[sin(0)]* —sin(6)=0) .4=(sin(9)+cos(9)=«/5)
S=(2tan(0) cos(0)=tan(0)) 6=(4 [cos(e)]3 —cos(0)=0)

No _[ 1 =(2sin(0)-1=0) 2=(4[sin(0) =3) }
- 3= (tan(0) sin(0)=tan(O)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.645107

No]:{l =(2cos(0)-1=0) .2=(4 [COS(G)]2—3 :0)}

3=(sin(20)=0) A4=(sin(30)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6=(4[cos(9)]3—cos(9)=0)
N03:[.]=(2sin(6)—1:0) .2:(4[sin(9)]2—1=0)}
3=(cos(40)=0) 4=(cos(20)=1)
d=(2[cos(0)] +cos(8)—1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
Nod=| .3=(2[sin(0)]" +sin(0)=0) .4:(sin(6)+cos(6):«/5)
J=(2tan(0) cos(0)=tan(0)) 6=(4[sin(8)] —sin(0)=0)
NO5{ I=(2sin(0)+1=0) .2=(4[cos(9)]2:1)}
J=(tan(0)cos(B)=tan(0)) .4=(3 [tan(@)]z— 1=0)
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TrigonometryExercise6 for No.645108

I=(2sin(0)—1=0) .2=(4[cos(0)]°-3= 0)}
3=(cos(30)=0) 4=(sin(40)=1)

d=(2 [sin(@)]z— sin(B)-1=0) .2=(2 [cos(@)]z— sin(B)-1=0)
No2 =

No]z{

3=(2 [cos(@)]z—cos(e):O) 4= (sin(6)+cos(6):«/5)
S =(tan(0) cos(0) =tan(0)) 6=(4 [cos(e)]3 —cos(0)=0)

N03:{1 = (2sin(0)+1=0) .2=(4[sin(0)-1= 0)}
3=(sin(30)=0) 4=(cos(20)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[sin(0)]*+3 cos(6)—3=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4=(sin(9)—cos(9)=«/5)
5=(2tan(0)sin(0) = tan(0)) 6=(4[sin(0)] -3 sin(0)=0)

N05_[ J=(2cos(0)—1=0) .2:(4[005(6)]2:1)}
- .3 =(tan(0) sin(0) =sin(0)) .4=(3[tan(9)]2—1=0)
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TrigonometryExercise6 for No.645109

NO]={.1=(2sin(e)+1=0) .2=(4[cos(9)]2—1=0)}
3=(sin(30)=0) 4=(sin(40)=1)
I =(2[sin(0)] +sin(0)=1=0) .2=(2[cos(0)]* =3 sin(6)—3=0)
No2 = .3:(2[sin(6)]2—sin(6):0) 4= (cos(0)—sin(0)=4/2)
S =(2tan(0)sin(0)=tan(0)) .6=(4[sin(9)]3—sin(9)=0)
N03=[.]=(2cos(6)—1=0) .2:(4[cos(9)]2—3=0)}
3=(cos(40)=0) 4=(cos(20)=1)
d=(2[sin(0) —sin(0)—1=0) .2=(2[sin(0)]*+3 cos(0)—3=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)—cos(6):«/5)
.5=(tan(0) sin(0) = sin(0)) 6=(4[cos(8)]’—3cos(8)=0)
N _{ 1=(2sin(8) - 1=0) .2:(4[sin(9)]2:1)}
- .3 =(tan(0) sin(0) =tan(0)) .4:([tan(6)]2—3:0)
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TrigonometryExercise6 for No.645110

d=(2cos(0)—1=0) .2=(4[cos(0)]" -3 = 0)}
3=(cos(20)=0) 4=(cos(40)=1)

d=(2 [cos(@)]z—cos(e)— 1=0) .2=(2 [cos(e)]z— sin(B)-1=0)
No2 =

No]:[

3=(2 [cos(@)]2 —cos(0)=0) 4 =(sin(0)—cos(0) :«/5)
S =(2tan(0) cos(0)=tan(0)) 6=(4 [cos(e)]3 —cos(0)=0)

N03:{1:(2sin(e)+1:0) .2:(4[sin(6)]2—3:0)}
3=(sin(20)=0) 4=(cos(30)=1)
I=(2[cos(0)]+3cos(8)+1=0) .2=(2[sin(0)]*+3cos(0)—3=0)
Nod = 3=(2[sin(0)]* +sin(0)=0) .4=(sin(9)+cos(9)=«/5)
5= (tan(0) cos(6) =tan(0)) .6:(4[sin(6)]3—3sin(e)zo)
N05:[ 1 =(2sin(0)—1=0) .2:(4[sin(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4=([tan(9)]2—3=0)
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TrigonometryExercise6 for No.645111

No]:{l =(2sin(0)-1=0) .2=(4 [Sin(e)]2_3 :0)}

3=(sin(26)=0) 4=(sin(40)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(cos(6)—sin(6):«/5)
S =(tan(6) cos(0) =tan(0)) 6=(4 [cos(e)]3 —cos(0)=0)
N03=[.]:(2cos(6)—1:0) .2:(4[cos(9)]2—1=0)}
3=(sin(30)=0) A4=(cos(30)=1)
d=(2 [cos(@)]z— 3cos(B)+1=0) .2=(2 [cos((?))]z— sin(0)—-1=0)
Nod = 3=(2[sin(0)] +sin(0)=0) .4:(sin(6)+cos(6):«/5)
.5 =(tan(0) sin(0) =sin(0)) 6=(4[cos(8)]’ =3 cos(6)=0)
N05:[ 1=(2sin(8)+1=0) .2:(4[sin(6)]2:1)}
3=(2tan(0)sin(0)=tan(0)) .4:([tan(6)]2—3 =0)
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TrigonometryExercise6 for No.645112

NO]:[.I:(2sin(6)+1:O) .2=(4[cos(9)]2—1=0)}
3=(sin(30)=0) A4=(cos(40)=1)
.]=(2[sin(9)]2+3sin(9)+1=0) .2=(2[sin(9)]2+cos(9)—1=O)
No2=| .3=(2[cos(0)]* —cos(0)=0) .4:(sin(6)+cos(6):«/5)
S =(2tan(0)sin(0)=tan(0)) .6:(4[cos(e)]3—3cos(9)=0)
N03:[.1:(2c05(6)—120) .2:(4[sin(6)]2—1:0)}
3=(sin(40)=0) 4=(sin(20)=1)
I =(2[sin(0) +sin(0)—1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
Nod=| .3=(2[cos(0)]*+cos(6)=0) .4=(sin(9)—cos(9)=«/5)
5= (tan(0) sin(0) =sin(0)) 6=(4[sin(0)] —sin(0)=0)
N05:{ A=(2sin(0)—1=0) .2=(4[cos(6)]2=3)}
3= (tan(0) cos(0)=cos(0)) .4=([tan(9)]2—3=0)
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TrigonometryExercise6 for No.645113

Nol =[‘] =(2sin(0)—1=0) .2=(4[cos(0)]’-3= 0)}

3=(sin(20)=0) 4=(cos(30)=1)
d=(2[cos(0)]*—cos(0)—=1=0) .2=(2[sin(0)]*+3 cos(6)-3=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=cos(9)) .6=(4[sin(9)]3—sin(9)=0)
N03={]=(2cos(6)—1=0) .2=(4[sin(9)]2—3=0)}
3=(sin(40)=0) 4=(cos(40)=1)
I=(2[sin(0) +sin(0)—1=0) .2=(2[cos(0)]°—3sin(6)-3=0)
No4=| .3=(2[sin(0)]*+sin(0)=0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[sin(8)] - 3sin(0)=0)
NO5{ 1=(2sin(8)+1=0) .2:(4[cos(9)]2:1)}
3 =(2tan(0) cos(0)=tan(0)) .4:([tan(6)]2—3:O)
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TrigonometryExercise6 for No.645114

NOIZ[.I=(2COS(9)—1=O) .2=(4[sin(9)]2—1:0)}
3=(cos(40)=0) A4=(cos(30)=1)
1 =(2[sin(0)] +sin(0)=1=0) .2=(2[sin(0)]* +cos(6)—1=0)
No2=| .3=(2[sin(0)]*+sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6=(4[cos(e)]3—3cos(9)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[cos(6)]2—1:0)}
3=(sin(30)=0) 4=(cos(20)=1)
I=(2[sin(8) +3sin(0)+1=0) .2=(2[sin(0)]*+3 cos(6)—3=0)
Nod=| .3=(2[sin(0)]* —sin(6)=0) .4=(cos(9)—sin(9)=«/5)
J=(2tan(0) sin(0)=tan(0)) 6=(4[cos(0)] —cos(0)=0)
No5:[ A=(2sin(0)-1=0) .2:(4[003(6)]2:3)}
3= (tan(0) cos(0)=cos(0)) .4=(3[tan(9)]2—1=0)
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TrigonometryExercise6 for No.645115

Nol =[‘] =(2sin(0)—1=0) .2=(4[cos(0)]’-3= 0)}

3=(sin(26)=0) A4=(sin(40)=1)
I=(2[cos(0) =3 cos(0)+1=0) .2=(2[sin(0)]°=3cos(0)-3=0)
No2 = 3=(2[sin(0)]* —sin(0)=0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) sin(0)=tan(9)) .6=(4[cos(e)]3—3cos(9)=0)
N03:[.]:(2sin(6)+1:0) .2:(4[sin(9)]2—1=0)}
3=(cos(20)=0) 4=(cos(40)=1)
.]:(2[sin(6)]2+sin(6)—1:0) .2:(2[003(6)]2+sin(6)—1:0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=tan(0)) 6=(4[sin(8)] —3sin(0)=0)
NO5{ I=(2cos(8)—1=0) .2:(4[cos(9)]2:1)}
3 =(2tan(0) cos(0)=tan(0)) .4:([tan(6)]2—1:O)
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TrigonometryExercise6 for No.645116

NO]:{I:(2sin(6)+1:0) .2:(4[cos(9)]2—1=0)}
3=(sin(40)=0) 4=(sin(20)=1)
.1=(2[cos(9)]2+cos(9)—1=0) .2=(2[cos(9)]2+sin(9)—1=0)
No2=| .3=(2[sin(0)] +sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(2tan(0)sin(0)=tan(0)) .6=(4[cos(e)]3—3cos(9)=0)
N03:[1=(2cos(e)—1=0) .2:(4[cos(6)]2—3=0)}
3=(cos(20)=0) 4=(cos(40)=1)
I=(2[sin(8)]" =3sin(0)+1=0) .2=(2[sin(0)]" =3 cos(6)—3=0)
Nod=| .3=(2[cos(8)]*—cos(0)=0) .4=(cos(9)—sin(9)=«/5)
5= (tan(0) cos(6) =tan(0)) .6:(4[cos(6)]3—cos(6):0)
N05:[ 1=(25sin(0)-1=0) .2:(4[sin(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4=([tan(9)]2—3=0)
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TrigonometryExercise6 for No.645117

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’-3= 0)}

3=(cos(30)=0) 4=(sin(40)=1)
d=(2[cos(0)*=3cos(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
No2 = .3:(2[cos(6)]2+cos(6):0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6=(4[sin(9)]3—3sin(9)=0)
N03={]=(2cos(6)—1=0) .2=(4[sin(9)]2—3=0)}
3=(sin(20)=0) 4=(sin(30)=1)
.]:(2[cos(8)]2+3cos(8)+1=0) .2:(2[005(6)]2—sin(6)—1:0)
Nod=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(6)—cos(6):«/5)
J=(2tan(0) cos(0)=tan(0)) 6=(4[sin(0)] —sin(0)=0)
N05=[ A=(2sin(0)—1=0) 2=(4[cos(8)]’=1) }
3= (2tan(0)sin(0)=tan(0)) .4:(3[tan(6)]2—1=0)
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TrigonometryExercise6 for No.645118

NOI_[.I=(2COS(6)—1:O) .2:(4[cos(9)]2—1=0)}
L .3=(cos(30)=0) 4=(cos(40)=1)
I=(2[cos(0)] =3 cos(8)+1=0) .2=(2[sin(6)]°—3cos(0)—3=0)
No2=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)+cos(6):«/5)
S =(2tan(0)sin(0)=tan(0)) .6:(4[cos(6)]3—cos(9)=0)
N03_[.I:(2sin(6)—1:0) .2:(4[sin(6)]2—1:0)}
L .3=(cos(20)=0) 4=(sin(20)=1)

I=(2[cos(0)]"—cos(0)—1=0) .2=(2[cos(0)]*—sin(8)—1=0)
Nod=| .3=(2[sin(0)]" —sin(6)=0) .4=(cos(9)—sin(9)=«/5)

S =(tan(0) sin(0) =tan(0)) .6:(4[cos(@)]3—3cos(6):0)
N05—[ 1 =(2sin(0)+1=0) .2:(4[sin(6)]2:3)}
- 3= (tan(0) cos(0)=cos(0)) .4=(3[tan(9)]2—1=0)
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TrigonometryExercise6 for No.645119

No]:[-1=(2008(9>—1=0> .2=(4[sin<e)]2—3=o>}

3=(cos(40)=0) A4=(sin(30)=1)
I=(2[sin(0) =3sin(0)+1=0) .2=(2[sin(0)]* = cos(6)—1=0)
No2 = .3:(2[sin(6)]2+sin(6):0) .4:(sin(6)+cos(6):«/5)
S =(tan(6) cos(0) =tan(0)) .6=(4[sin(9)]3—3sin(9)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[cos(9)]2—3=0)}
3=(sin(40)=0) 4=(sin(20)=1)
d=(2[cos(0)] —cos(8)—1=0) .2=(2[sin(0)]* =3 cos(6)—3=0)
Nod=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(6)—cos(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6=(4[cos(e)]3—3cos(9)=0)
N05:[ A=(2sin(0)-1=0) .2=(4[cos(6)]2=1)}
.3 =(tan(0) sin(0) =sin(0)) .4:([tan(6)]2—3:0)
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TrigonometryExercise6 for No.645120

NO]:[.I:(2sin(6)+1:O) .2=(4[sin(6)]2—3=0)}
3=(cos(40)=0) 4=(cos(30)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
No2=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(6)—cos(6):«/5)
J=(2tan(0) sin(0) =tan(0)) 6=(4[cos(0)]’ —cos(0)=0)
N03:{1:(2sm(e)—1=0) .2:(4[cos(6)]2—3=0)}
3=(sin(40)=0) 4=(sin(30)=1)
I=(2[cos(0) +cos(0)—1=0) .2=(2[cos(0)]*+sin(8)—1=0)
Nod=| .3=(2[sin(0)] +sin(6)=0) .4=(cos(9)—sin(9)=«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[cos(@)]3—3cos(6):0)
N05:[ 1=(2cos(8)—1=0) .2:(4[sin(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4=([tan(9)]2—3=0)
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TrigonometryExercise6 for No.645121

No]:[-1=(2008(9>—1=0> .2=(4[sin<e)]2—3=o>}

3=(sin(26)=0) 4=(sin(30)=1)
d=(2[cos(0)]*—cos(0)—1=0) .2=(2[sin(0)]* =3 cos(6)-3=0)
No2 = .3:(2[sin(6)]2+sin(6):0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) sin(0) =sin(0)) .6=(4[cos(9)]3—cos(9)=0)
N03:[.1:(2sin(6)—1:0) .2:(4[cos(9)]2—1=0)}
3=(sin(40)=0) 4=(cos(30)=1)
d=(2[sin(0) +sin(0)—1=0) .2=(2[sin(0)]*+3 cos(0)—3=0)
No4=| .3=(2[sin(0)]*—sin(0)=0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6=(4[cos(e)]3—3cos(9)=0)
N05:{ 1=(2sin(8)+1=0) .2:(4[sin(9)]2:1)}
3= (tan(6) cos(0) =tan(0)) .4:([tan(6)]2—1:0)
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TrigonometryExercise6 for No.645122

NO]:[.Iz(Zsin(e)—lzm .2:(4[cos(9)]2—3=0)}
3=(sin(40)=0) A4=(cos(30)=1)
1 =(2[sin(0)] —sin(0)—1=0) .2=(2[cos(0)]*—3sin(6)—3=0)
No2=| .3=(2[sin(0)]*+sin(0)=0) .4:(sin(6)+cos(6):«/5)
J=(2tan(0) sin(0) =tan(0)) 6=(4[cos(0)]’ —cos(0)=0)
N03:{I:(25in(6)+1:0) .2:(4[sin(6)]2—1:0)}
3=(sin(30)=0) 4=(cos(40)=1)
d=(2[cos(0)]* =3 cos(0)+1=0) .2=(2[cos(0)]*—sin(8)—1=0)
No4 = 3=(2[sin(0)]* —sin(0)=0) .4=(cos(9)—sin(9)=«/5)
J=(2tan(0) cos(0)=tan(0)) 6=(4[sin(0)] —sin(0)=0)

No _[ A =(2cos(0)-1=0) 2=(4[cos(8)=1) }
- .3 =(tan(0) sin(0) =sin(0)) .4=(3[tan(9)]2—1=0)
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TrigonometryExercise6 for No.645123

I=(2cos(0)-1=0) .2=(4[cos(0)-1= 0)}
3=(cos(40)=0) 4=(sin(40)=1)

I=(2[sin(0)] +sin(0)—1=0) .2=(2[cos(0)]*+sin(0)—1=0)
No2 =

No]:[

3=(2 [sin(e)]z—sin(e) =0) 4= (cos(0)— sin(e):«/g)

S =(tan(0) sin(0) =sin(0)) 6=(4 [cos(e)]3 —cos(0)=0)
No3:[']:(2 sin(0)+1=0) .2:(4[sin(6)]2—1=0)}
3=(cos(20)=0) A4=(sin(30)=1)
Ad=(2 [sin(@)]z— 3sin(B)+1=0) .2=(2 [sin(@)]2—3 cos(0)—-3=0)
No4=| .3=(2[sin(0)] +sin(0)=0) .4:(sin(6)—cos(6):«/5)
S =(tan(6) cos(0)=tan(0)) 6=(4[cos(0)]’ =3 cos(0)=0)

NO5{ 1=(2sin(0)—1=0) .2=(4[sin(9)]2=3)}
3= (tan(0) cos(0) =cos(0)) .4:([tan(6)]2—3:O)

X [Page = 0028] XXXXXXXXXXXXXXXXXXXXXXKKXXXXKXKXKXKXKXKKXKXKXKXKXKXKXKXKXKXKXKXKXKXXXXXXXKXKXKXXX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6400306-00057XX
TrigonometryExercise6 for No.645124

NO]:[.I:(2sin(6)+1:O) .2:(4[sin(9)]2—1:0)}
3=(cos(40)=0) 4=(sin(40)=1)
d=(2[cos(0)] +cos(0)—1=0) .2=(2[cos(0)]°—3sin(0)-3=0)
No2=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[cos(0)]’ =3 cos(0)=0)
N03:{1=(2sin(e)—1:0) .2:(4[cos(6)]2—3=0)}
3=(sin(20)=0) 4=(cos(20)=1)
d=(2[cos(0)]*—cos(0)—1=0) .2=(2[cos(0)]*+3sin(0)-3=0)
Nod=| .3=(2[sin(0)]" —sin(6)=0) .4=(sin(9)+cos(9)=«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[005(6)]3—cos(6):0)
N05:[ 1=(2cos(8)—1=0) .2:(4[sin(6)]2:3)}
.3 =(tan(0) sin(0) =sin(0)) .4=([tan(9)]2—1=0)
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TrigonometryExercise6 for No.645125

Nol =[‘] =(2sin(0)—1=0) .2=(4[cos(0)]’—1= 0)}

3=(cos(40)=0) 4=(cos(30)=1)
I=(2[cos(0)]*—cos(0)—1=0) .2=(2[cos(0)]°=3sin(0)-3=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6=(4[sin(9)]3—sin(9)=0)
N03={]=(2cos(6)—1=0) .2=(4[sin(9)]2—3=0)}
3=(cos(20)=0) 4=(sin(40)=1)
d=(2[cos(0)] +cos(8)—1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
Nod=| .3=(2[sin(0)]" +sin(0)=0) .4:(cos(6)—sin(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6:(4[005(9)]3—cos(6)=0)
N05:[ 1=(2sin(0)+1=0) .2:(4[sin(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4:([tan(6)]2—1:0)
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TrigonometryExercise6 for No.645126

NO]:[.I:(2sin(6)—1:0) .2=(4[sin(6)]2—3=0)}
3=(sin(30)=0) A4=(cos(30)=1)
.]=(2[cos(9)]2—3cos(9)+1=0) .2=(2[sin(9)]2—cos(9)—1=0)
No2=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(0)=tan(0)) .6=(4[sin(0)] —sin(0)=0)
N03:[.I:(2sin(6)+1:0) .2:(4[sin(6)]2—1:0)}
3=(cos(40)=0) A4=(sin(20)=1)
d=(2[cos(0)*+3cos(0)+1=0) .2=(2[sin(0)] +cos(8)—1=0)
Nod=| .3=(2[cos(0)] +cos(0)=0) .4=(cos(9)—sin(9)=«/5)
S =(2tan(0) cos(0)=tan(0)) .6:(4[cos(e)]3—3cos(6):0)

No _[ A =(2cos(0)-1=0) 2=(4[cos(8)] =3) }
- .3 =(tan(0) sin(0) =sin(0)) .4=(3[tan(9)]2—1=0)
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TrigonometryExercise6 for No.645127

NoJ z[.l =(2sin(0)+1=0) .2=(4[sin(0)-1= 0)}
3=(cos(30)=0) 4=(cos(40)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
No2=| .3=(2[sin(0)]*+sin(6)=0) .4:(sin(6)—cos(6):«/5)
J=(2tan(0) cos(0)=tan(H)) 6=(4 [cos(e)]3 —3cos(0)=0)

No3=[‘] =(2sin(0)-1=0) .2=(4 [sin(e)]2_3 :0)}

3=(sin(20)=0) 4=(cos(20)=1)
I=(2[sin(0)] +sin(0)—1=0) .2=(2[cos(0)]*+3sin(6)-3=0)
No4=| .3=(2[sin(0)]*—sin(0)=0) .4:(cos(6)—sin(6):«/5)
S =(tan(6) cos(0)=tan(0)) 6=(4[cos(0)]’ —cos(0)=0)
N05:[ I=(2cos(8)—1=0) .2:(4[005(9)]2:3)}
.3 =(tan(0) sin(0) =sin(0)) .4:(3[tan(8)]2—1:0)
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TrigonometryExercise6 for No.645128

d=(2sin(0)+1=0) .2=(4[cos(0)]*-3= 0)}
3=(sin(30)=0) 4=(sin(20)=1)

d=(2 [sin(@)]z— sin(B)-1=0) .2=(2 [cos(@)]z— sin(B)-1=0)
No2 =

No]z{

3=(2 [cos(@)]2 —cos(0)=0) 4 =(sin(0)+cos(0) =«/5)
.5 =(tan(0) sin(0) =sin(0)) 6=(4 [cos(@)]3 —3cos(0)=0)

N03:{1:(2sin(e)—1:0) .2:(4[sin(6)]2—3:0)}
3=(cos(40)=0) 4=(cos(20)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[sin(0)]*+3 cos(6)—3=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4=(sin(9)—cos(9)=«/5)
5= (tan(0) cos(6) =tan(0)) .6:(4[sin(6)]3—sin(6):0)
N05:[ 1=(2cos(8)—1=0) .2:(4[003(9)]2:1)}
3= (tan(0) cos(0)=cos(0)) .4=(3[tan(9)]2—1=0)
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TrigonometryExercise6 for No.645129

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’ 1= 0)}

3=(sin(20)=0) 4=(cos(30)=1)
I=(2[sin(0)]=3sin(0)+1=0) .2=(2[cos(0)]* —sin(6)—1=0)
No2 = .3:(2[sin(6)]2—sin(6):0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(0) =cos(0)) 6=(4 [sin(e)]3 —sin(0)=0)
N03=[.]:(2cos(6)—1:0) .2:(4[cos(9)]2—3=0)}
3=(cos(40)=0) A4=(sin(40)=1)
d=(2 [cos(@)]2+ 3cos(B)+1=0) .2=(2 [COS(O)]z-I- sin(0)—-1=0)
Nod = 3=(2[sin(0)] +sin(0)=0) .4=(cos(6)—sin(6):«/5)
S =(tan(0)sin(0)=tan(0)) 6=(4[cos(0)] —cos(0)=0)
N05:[ 1=(2sin(8) - 1=0) .2:(4[sin(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4:([tan(6)]2—3:0)
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TrigonometryExercise6 for No.645130

NO]:[.I:(2sin(6)+1:0) .2:(4[cos(9)]2—1=0)}
3=(sin(30)=0) 4=(sin(40)=1)
.]=(2[sin(9)]2+3sin(9)+1=0) .2=(2[sin(@)]2+3cos(9)—3=0)
No2=| .3=(2[cos(0)]*—cos(0)=0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[sin(8)] —sin(6)=0)
NOSZ{I:@sin(G)—l:O) .2:(4[cos(6)]2—3:0)}
3=(cos(40)=0) A4=(sin(20)=1)
I=(2[sin(8)] +sin(0)—1=0) .2=(2[cos(0)]*+sin(8)—1=0)
Nod=| .3=(2[cos(0)]*+cos(6)=0) .4=(sin(9)+cos(9)=«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[cos(6)]3—cos(6):0)
NO5:[ 1=(2cos(B)—1=0) .2:(4[sin(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4=(3[tan(9)]2—1=0)
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